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DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
es for the Candidate Timo : 1 hr.

Total Quostions : 50 G

1. Additional 10 (Ten) minutes will be given to the students to il up the students'information before the.

startofthe exam.

2. Alquestions are compulsoryand carry equal marks. There s no negative marking. Use of calculator
isnotpermitted.

3. Write your Name, Roll Numberand Class clearly onthe Answer Sheet and do notforgettosign.

4. Thereis onlyone correctanswer hence mark one choice only.

5. Darkenyourchoicewith HB Pencil or Blue / Black Ball Point Pen only. For Example

Q16:  Anumber has nine ones, sxtens and elght hundreds. Whatis the number?
A 869 (®) 8%
© 968 (©) 986 20000
As the correct answeris option No. (A), the candidate should darkan the circie corfesponding to 0ption No. (A)
6. Roughworkshouldbedonein the blank space provided n the booklet.
7. Reum the answer sheet to the invigiator at the end of the exam. The question paper can be
retained by the student.
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[image: image2.jpg]SECTION | : LOGICAL REASONING

1. Which digit will appear on the face opposite 2
to the face with number 47 5
(A3 (®) 5 1
© 6 (@) 1

2. What would be the cost of 2 litres of ice cream and 2 boxes of ice cream cones?

[LVRS Bgﬁ 7(5) 2580 ©) {550 (D) 2 680

3. Look at the given series: 21, 9, 21, 11, 21, 13, 21, .... What number should come
next?
(A) 14 ®15 ©) 21 ()23

4. Blueberries cost more than strawberries.
Blucherries cost less than raspberries.
Raspberries cost more than both strawberries and blueberries.
If the first two statements are true, the third statement is _____
(A) True (B) False () Uncertain (D) None of these

5. Geota put a CD in the CD player and pressed play. When she put
the CD in, it looked like the picture shown aside. After the song G,
ended, Geeta opened the CD player and the CD looked like it =

had rotated (turned) 180°. Which figure given below shows the Oleieg
CD after it rotated (turned) 180°7
Sopid Gotdon SHD S
S o= SO g % H
18\ iarea BN ©\&r$ ©\&
6. A photographer came to take the pictures of PICTURE PACKAGES

a student. There was a choice of five different [ Package A | 8 wallot-sized pictures
picture packages. The given chart shows how | PackageB | 16 wallet-sized pictures
the number of wallet-sized pictures increases | Package C
from package to package. If the increase is | P2cka3¢D
the same from one package to the next, |LocegeE | dDvallotsizod pictures
how many wallet-sized pictures should be in package C?

wwe @20 @2 (©) 24

41O [Level | Ciss -5 =



[image: image3.jpg]Count the number of triangles in the given figure.
@ 10 e &&
=012 (D) None of these

8. Three different positions of a triangle are I T
given. Which of the following options 5
describe its positions?

(A) Rotation, then reflection

(B) Reflection, then translation 5
(C) Reflection, then rotation
(D) None of these

9. IX# XV 4 XK= __

(A) 45 (B35 (C) 44 (D) 76

10. In the given diagram the boys who are Ao
7
athletic and disciplined are indicated 8
K 5 1 —>Boys

by which number? 3 O s Atatc

(A) 1 ®) 2 —1—> Girls

©10 ©6 L . [[]—> pisciplined
11. Arrange the words given below in a meaningful sequence.

1. House 2. Street 3. Room 4. Town 5. District

(A)3,21,45  (8)3.1.4.25 ©31.245 (031254

12. Six friends (A, B, C, D, E and F) are sitting in a circle and are facing the centre
of the circle. A is between B and C. D is between E and F. B and E are opposite

to each other. Who is sitting opposite to C?
_MERET ® A ©0 _ @F

13. Which number completes the puzzle? @@ ) @ @) @

w2 @19 © 21 © 20

14, Which one will replace the question mark?
12 18 30

\*/ °\{/ “\’/
(A) 18 s (E)VIZ i ©)9 3 S 7(D) 6 o
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[image: image4.jpg]15. What kind of triangles will be obtained if X draws a line segment 5
connecting points A and C on the rectangle shown aside?
(A) Isosceles (B) Right angled
(C) Equilateral (D) Obtuse L

16. Krishna will pick one tile from a box without looking. From which of the following
boxes is she certain to pick a tile with a *J"

on it?

]
® ® |4 ©
@ 3
17. The given table shows that for science Caterpillar kits
class, Mr. Satish is ordering kits that Numberofkits | 3 | 4 |5 |6
contain caterpillars. Based on the data in S
the table, what will be the total number of caterpillars | 18 | 24 | 30 |36
of caterpillars in 8 kits?
(8) 48 (8) 38 (©) 40

18. The water in Megha's watering bucket is frozen. Which would most
temperature of the water?
") 0 (®) 100°C (©) 50°C (0) 25°C

19. Look at this pattern. Which of the following flowers will complete the given pattern?

Sk
.6 R

20. Shreya has a piece of ribbon which is 3 times as long as Sara's ribbon. If Sara's
ribbon is 4.8 m long, how much longer is Shreya's ribbon ?
(a) 1.6m (8) 96m (©) 78m (D) 144 m

SECTION Il : MATHEMATICAL REASONING

21. Which geometric figure has six square faces?
() Cube (8) Cone (C) Cyinder (D) Sphere

22. Which figure has no line of symmetry?

W = ®) * © © EDU
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[image: image5.jpg]23. Charu cut each piece of paper shown below on the dotted line. Which of the
following are the shapes of the four pieces?
(A) Triangles and rectangles
(B) Squares and triangles
(C) Squares and hexagons
(D) Rectangles and circles

Paper1  Paper2

24. Point P is the centre of the circular target shown in the
picture. Which appears to be the chord of the circle?
(A) PQ (B) sQ
O @) None ofthese

25. Look at the given problem.

Jasmine gave Kanishka 3 sets of stamps. Each set has 6 stamps.
Whatis the total number of stamps Jasmine gave Kanishka?

Which of the following pairs given in the options can be used to solve this problem?

3+6=] 3+6=] 3x6=] 3x6=]
W |6+6+6=]| B |6x6x6=[]| (O 3+6=[] | (O |s+6+6 O

26. Reshma put an “S” on the calendar to show the August

date of her first soccer game in August. Reshmars [Sur] WonTuss ied Thurs i Sit
second soccer game is exactly three weeks later. bl IR I
What is the date of her second soccer game? L P ) ) I )
(A) August 7 2] | W[ % % T
(8) August 18 w| | 7| @ @] @ B
(©) August 24 %[ | w B 0] %
() August2s 31,965 7 o el
27. 2 hrs after 10:30 am is ____.
(A) 12.30 pm (B) 12.30 am (¢) 1.00am (D) None of these

28. Which of the following has the same valus as & x 17

w35 ®

g R I |
ik 7 s

©)

IR

© 7

29. If the number sentence given below is true, which of the following is also true?
5760 +24=[]
(A) 24x[]=5760 (B) 5760-24=[] (C) []x5760=24 (D) 5760+24=]
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[image: image6.jpg]30. What should be the number in the START box ?

[START}—» [37] — (% 78] —> (360

A2 (8) 640 _ ©n2 () 207360
31. Look at the number line. oo A

Betwoen which shapes is % lying? e e

(A) Between (J and O (B) Between O and A

(C) Between A and 3 (D) Between () and 37

32. Ms. Pallavi recorded the time, in which her 12 students complete a set of math
problems.
Time in seconds : 39 48 59 43 38 37 49 50 58 47 58 46
Then she presented the record as shown below.

Time in seconds | Number of students |
30-39 [
4049 i
5059 2
How many tally marks should Ms. Pallavi write in the row for 50-59 seconds?

® Hli 7(5)7””7

33. Akriti saw many different shapes of windows on cars and trucks in a parking lot.
Four of the windows she saw are drawn below.

Es s el

© M (©) Ml

Window 1 Window 2 Window 3 Window 4

Which window appears to have only 1 line of symmetry?

(A) Window 1 (B) Window2 — (C) Window 3 (D) Window 4
34. What is 6050.287 rounded to the nearest tenth 2
_(A60S0_ (86100 (C)6050.29 (D) 6050.3
35. What number am | 7

* | am a two-digit even number.

* 1 am a common multiple of 6 and 7.

+ I have a total of 8 factors.

B2ty . (C)36 (D)8

10:30, what kind of angle is formed by the hands of

the clock?
(A) Acute (B) Obtuse
(0 Right (D) Straight
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[image: image7.jpg]37. Which point on the number line best represents 1.357

@ Ry s
© (D) -t
- i

38. What is the missing value in the given pattern ?
0.25x12=025%3 +025%3+025x%x -
@z L e ©6 @8
39. Girish is making a math puzzle. He writes that "w’ is an even number which has
12 as a factor. Which of the following could represent the variable 'w'?
(A) 2156 !B) 17275 . ;! (©) 142% - e (D_L‘ZSG =
40. A shopkeeper mixed 3.6 kg of hazelnuts with 0.75 kg of raisins. He packed the
mixture equally into 5 boxes. What is the weight of each box ?
(A) 1425 kg (B) 4.35kg () 087 kg (D) 0.72 kg

SECTION IIl : EVERYDAY MATHEMATICS

#41. Every week Suhana saves ¥ 10 on Monday and 2 15 on Friday. If this is her total
weekly savings, how many weeks would she take to save enough to buy a t 175
wireless phone?

(A) 52 weeks (B) 46 weeks (C) 7 weeks (D) 14 weeks

42. There are 9 rows of seats in a theatre. Each row has the same number of seats.
If there is a total of 162 seats, how many seats are in each row?

(ISR N0 o (R SR

43. Arjun's snack shop sells small, medium and large sodas. Yesterday, they sold 3
large sodas and 8 more medium sodas than large sodas. Arjun's snack shop also
sold 8 small sodas yesterday. How many total sodas did Arjun's snack shop sell
yesterday?

() 31 GRS U2t = njs

44. Abhilasha made cake for a party. She put the cake into the oven at twenty-five
past four and took it out thirty minutes later. What time was it when Abhilasha
took out the cake?

(A) Five past eight _(B) Five o'clock (©) Five to five (D) Five past four

45. The temperature of water in a swimming pool is S1°F. Since the freezing point of
water is 32°F, how many degrees would the temperature of the water have to drop
to reach the freezing point ?

(A) 9F B 21F (© 2 (D) 19°F
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[image: image8.jpg]46. There are 26 birdhouses made at a factory each hour. What is the total number of

birdhouses made at the factory in 8 hours?
(A 34 (B) 84 (C) 202 (D) 208

47. Rehana drank 2 glass of lomonade. Roshni drank 1 glass of lomonade. If the

glasses held the same amount of lemonade, how much more lemonade did Rehana
drink than Roshni?

3 1 3
® 3 ® 5 © 3

© 3

5
48. A beaker is 7 filled with water. Another 10 litres of water is needed to fill the
beaker to its brim. What is the capacity of the beaker 2
(A) 50 litres (B) 20 litres (€) 70 ltres. (D) 3Slitres

49. The sound of an aeroplane taking off is about 2.2 times louder than a person
shouting. Which is the best estimate of the decibel level of an aeroplane taking

off if the decibel level of a person shouting is 65.47
(A 340 (B) 140 (C) 200 (D) 100

50. A car can travel 315 km on 30 litres of petrol. How far can the car travel if it has

50 litres of petrol in its petrol tank?
(A) 10.5 km (B) 189 km (€)525km (D) B40km

SPACE FOR ROUGH WORK
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